% {%@ @ 6 Addition bis 100 (horizontal)

Name: Datum: Ergebnis:
45+ 67 = 81 +45 =
88 +99 = 96 + 69 =
64 +2 = 54+ 60 =
56+ 79 = 32+70 =
21 +63 = 52+5=
8+ 11 = 35+9=
65+ 73 = 75 + 24 =
93 +91 = 15+82 =
51+28 = 66+ 6 =
18+ 21 = 76+ 72 =
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‘% {g @ Addition bis 100 (horizontal)

Name: Datum: Ergebnis:
45+ 67 =112 81 +45 =126
88 +99 = 187 96 + 69 = 165
64 +2 = 66 54+60=114
56 +79 =135 32+70=102
21 +63 =84 52+5=157
8+ 11 =19 35+9=44
65 +73 = 138 75+ 24 =99
93 +91 =184 I15+82 =97
51+28="79 66+6="72
18 +21 =39 76 + 72 = 148
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